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Shown is y = f(x). :
For egch question, describe the transformations,
sketch the graph, and write the mapping notation.
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Sketch y = x® Sketch y =[x Sketch y = x?
X (show at least 5 ‘foints} (show at least 3 points)  (show at least 5 points)

Fore each question, describe the transformations and sketch.
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io y= f(x ‘
reflect in the y—axis
H T vertically expand by 3

translate 2 right, 6 down

[#2] toy=g(x)
reﬂect_in the x—axis

vertically compress by %

horizontally expand by 5
translate 6 left

[#3] toy=x® e ))3
horizontally compress by% 7 EY (;@ 3 + 2

translate 3 right, 2 up

y =1(x) is shown in black.
Wirite the equation of the graph shown in grey
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[#7] The point (2, 5) is on y = f(x)
Findapointony =-2f(x-1)+4

x> (X+] ‘-1)#!-4—)
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[#8] The point (-8, 4) is on y =9(x)
Find a pointony = 5 fldx +12) =1
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[#9] Thepoint{3,0)isony=3h{2x)—-6
Find a point on y = h{x)
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‘ Determine the domain of y = p(—2x + 2) — 3
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[#1] Determine the inverse of the point (7, 11)_ | ' f_ o Ve
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[#2] | Shown is y = f(x) I g
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[#8] The point (4, -5)is on y= g{x)

— Find a pointony = g™'(x) - ()’,) j) — (_Lj ) "'Z)
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